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3RNRN� 3HUPDVDODKDQ� �� 'HQJDQ� VHPDNLQ� NHWDWQ\D� SHUVDLQJDQ� GL� GXQLD� RWRPRWLI��

$JHQ�7XQJJDO�3HPHJDQJ�0HUN��$730��KDUXV�PHQ\XVXQ�VWUDWHJL�GDQ�PHQFDUL�FDUD�

DJDU�ELVD�PHPHQDQJNDQ�NRPSHWLVL�GL�NHODVQ\D�PDVLQJ���PDVLQJ��6DODK�VDWX�FDUDQ\D�

DGDODK� GHQJDQ� PHPLOLNL� VWUDWHJL� GDODP� SHPLOLKDQ� SHPDVRN�� 'HQJDQ� VWUDWHJL�

SHPLOLKDQ�SHPDVRN�\DQJ�SDOLQJ� WHSDW��PDND�DNDQ�PHQGXNXQJ�SHQJKHPDWDQ�ELD\D�

DWDX�FRVW�UHGXFWLRQ�NDUHQD�VHWLDS�SHPDVRN�GLWDQJDQL�GHQJDQ�SHQGHNDWDQ�\DQJ�XQLN�

\DQJ� PHPSHUWLPEDQJNDQ� SHQJDUXK� NRPRGLWDV� �� NRPSRQHQ� WHUVHEXW� GDODP�

NHEHUKDVLODQ�SUR\HN�SHUXVDKDDQ�GDQ� MXJD� ULVLNR�SHPEHOLDQ�NRPRGLWDV� ��NRPSRQHQ�

WHUVHEXW�WHUKDGDS�NHODQJVXQJDQ�ELVQLV�SHUXVDKDDQ��
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